EARAROBEEIERT — 2 N— IBISH —F

2013%8H250 (B) 7EIEH4H

m &KUY HSR3&mL B I
[A&4£] 1 7 :600,000 3 ~ 23#&:150,000 @ ~ 33#&:72,000 3 ~ 43#&:48,000 ™ . 5 3 :30,000 @
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=% :29. 20— . — WMARRE) (FH)
(gl 77 17=70—+ o7 5&;_0 1(2_9)1 2-2-2-1 |38.8 2 (i?;) IEAJ%%&
AR g4 =7 BN—Z2Ty R J—H¥rTr—LA
< 47 | hEER 1:29.5 9-8-7-7 |37.5| — 3 479 | EERRZ (FH)
ol7l8| V7 57.0 @ ) |
L:Za—-A4>97>F B:4—-X3ITFvo— AR HER
3 #o4 | B6)IIEGEL 1:29.7 3-3-3-3 [89.2| — 5 467 | RKEAEEA (SH)
3|5|5 EOAIEAX 55.0 (3/4) (+3) BAE{Z3
L:d—IRAaqO— 87307/ it Kk
N . . FEEE . —10-8 _ JIBEF ()
N BEXEEEL > 9| L@ 172?:)7 10-10-8-5 | 37.4 9 ::4) Lo
v AxINTT BXT)—LTq1—2 R EAE
0 Hrhz } o4 _ BETX (B%)
5B o NY< I 74%1) K1 47 57-0-7- 1(.12/92.)8 6-6-4-6 | 38.3 4 (4_515) EE?&‘-T—
pai= B AVEE A = SR P S B RS
o [© o KIRAE : -4-5- = HEEX (SH)
611177 kUBy 7 7R 57 DR ° G | BERs
L:y07% B:yuza-)b ARRS1 REYS
o o [FEEREE : ~5-6- — B (FH)
7 N 4 ]/\/1717 L X 43 55.0 1(73?:) 5568 8.7 7 lzgf /J\)H(;;%
RN F2—0 B A 2N INEiE =5
FN: g 2 : -1-1- - B (B
N BEE i 8 57.0! 1.(310).6 1-1-1-2 | 40.4 1 %? EEE%%
R:TANKSy Y2 BiFLTIZXTYU— FE IS
N R LR . -9-0- — BEIEX (BH)
olglg|Z17arT4—1 5 [ & 1.(351).7 8-9-9-9 |39.2 10 :1;1) /J\%ﬂz
LZAFAT—=ILK BTV RTFy KR FRBE%S
= K= 4 5 | BIRFEZ 1:32.4 7-7-10-10 | 39.8 | — 8 475 | BIRFRE (FH)
10)7|7| 7> FA7 % 370 @ Gy | R
R:T7LERATAvIT4 N BiF%TaUNERZR Litie
® 1 — @B
1T=7r= 3,10,5,1,4,2,7,9,8,6
2a=5"= 3,10,5,1,4,2,7,8,9,6
Ja=5= 3,10,5,2,1,4,8,6,9,7
43—+ — 10,3,5,1,6,2,8,4,9,7
[ /N
B 10 240M 74K 8-10 390M B 7-8 1,080M JEE 5-8-10 2,520/
B B 10 110H 5-10 310 B & 8-10 1,260M JEE 10-8-5 7,720
8 210M 5-8 1,130H B E 10-8 1,550
5 190M

ABICOVWTRDTEEERROODE. TR LIV,




